Part=1/9m-]

Compulsory / sifard
which of the lollowing statements are true | v If the interest received by Fenil 18 20% of
: with reference 10 Vyapti (concomitance) the sum invested by him, then find how
weording o the Nyaya system ?

(a) It expresses the relation between I

two individual objects only.

(b} It expresses the relation between the
classes of individuals,

(¢) It can be said to exist between two things |

i they are related as cause and effect.

(d) Itcan be said o exist

between two things I

|rd-|-r:}.-.1r::mlfuedassqxcimm1dgmu&.
Choose the correct answer from the

u{rlmns given below -
(4) (a), (¢) and (d) only
(B) (¢) and (d) only

(C) (b), (¢) and (d) only

I STl & = (wegm
! 3 P 3 3 8 e
% e ey sy

(b) wmﬁnﬁ#wﬂ%ﬂammmtl

(D) (b) and (c) only

(a) TE *Had 2t sufRgl
FAATR |

b
O A s v

!

d) 98 2 i $ fie wfewg o
TR TR S T S

A1 TR 7o fapedl 3 &t v w7 e B
(A) () ()30 (d) (B) ¥ (c) 3t (d)

(C) ¥ (bLc) 3R (D)

syEiFIwE |

et (b) 3t (c)

¥ I fw
g%#iﬂﬁﬁlmﬁHﬁ& | FfeTa & SR g

& faffe 7 &

w:mmﬁmﬂa
¥l v g e )

Rateof| Time
interest | (Years)
WEAE | W

()

Principal
Lo
®

Amount
ufy
(4]

1,800

/| 3T 3%
i I X m

3,000

4,500 4

_..i——-_'_'h.-—

much more money as interest he would
have n:unu:i.ldil' he ﬁadrmvlﬁiln;g nli"lf I'II:;}I:E}'
in compound interest for the same years, :
T2 i a1 AT AT FHE G &
sl w1 20% R, @ A e fe afz
359w aul & fery swafe s o fram
foa wren &) 39 faaa s1faes sara faeran |

;AJ T80 (B)T60 (C)T65 (D)T 75
f the interest received by Fenil is ¥ 240
more than interest received by Divya and the
rate of interest received by Fenil is 2% more
the rate of interest received by Amar,

find the interest calculated by Divya.
a8 ®fer qr s s feem gro ww S A
¥ 240 wfts & 3t e g0 a1 )
;(aamamm ST 61 2 H 2% 3 2,
e v move v wman s s B |

ﬁ} 1% (B)2% (C)3% (D)4%
the interest rate received by Amar and
Chirag is in the ratio 2 : 3, then find in
approximately how many years the
mune]y invested by Chirag’ will be

ubled with same rate of interest,

L G §TH 37191 2T 2 : 3

& 39 A B, A R g e )

af¥ FST-T =W W A v fad agl

?

A) 33.5 (B)20 (C)22.22 29.40

£flghc ifference ] . (El interest

A) 22
{F} 3,050 2,960

the amount received by Chiraﬁ’ 15
twice the money invested by him, then
find the amount he will receive afier 2
years if he invests same amount of
money in compound 1Im:rest for 2 years
co

ded half .
2 1T 2 T s @ e
ﬂiﬂzﬂi&ﬁgﬂ ,Ehmm ﬁsz_g
T B 2 o s
A fzm;’fﬁﬁ&amft 2’ 549.45
EC)} zﬁlﬁz EB} ¥ 2012246
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9.

10.

=
e o
(A)
(©)

What s

F‘anlﬂ ng F rld.|.]'Il.

I II!SI]TU[IL‘I-I]
B a
(B) A metho dology for ranki

edy ng h
(©) cation INstitutions in |nﬂls igher

platform/fran
stu dqu Ve 1ework

colle ES 31‘! fﬁcdh'n_k

% Allo universities,

{NIH_F}W%"J E }ﬁﬂﬁﬂ[ﬁiﬁ
(A]ﬁﬁmmﬁqml%%q

where

about

‘E‘Jﬁmh one of the fol I{.'-wm'_’g statement(s)

is/are true about QR code ¢
It stands for Quick Read
H ::s a two- bgmcgs;pnal bar code,
annot be used fo t
wallet addresses. Ry

I
Both I and I1 B
g‘iﬁ%" g u'il;llland I
%Y QR Hig

Ay wE R/

L Wﬂﬁﬁﬁﬂﬁqﬂég Quick Read) ® |

II. T8 o gi-fafla an

1. mmmﬁsﬁmq@ﬁ
o af fFm i asar 2 |

(A) 13N (B) I3 IIGH

(C) FFA 1l (D) % Il

Which video cnmp;essmn fsmndard qiﬁ
in video conferenc
fere S

commonly used
mmﬁmﬁmﬂ
e 2ved &1 I R
EA}HZM - &3’; MF‘HEELIIET

MPEG-4

isa ngltaI initiative nf uvm-nmen!
of India in hi
promote han

edncannn

Ieammg uf Rnbcﬂcs
andemhedded
E )) E-Yanira

systems in co
E-PG Pathshala &B); Eﬁm"éhubs

= B g mﬁmaﬁrﬁ

377
3_dffsft argmer (D)

J
i

|
|
|
to |
|
|
|
ok |
I
I
I
3

12.

13.

14.

dgr
ﬂdiﬂg ﬂf
ﬁ}:fmlgr: the Lr]]ps in an 85°°
eir wat tprint.
(A) Wheat < Rice < Cofle¢
B ice 'W]'u: it < C ut‘ﬁﬂ;
} Coffee < Rice < Wh‘:ul
Rice < fnflL: Whed
‘;!?ﬂm #1 FET;,L;?; ﬁa‘ﬂ
ootprint) = AT
(A) T < e < b
(B) w1 <7¢ < 7]
(C) Hih <=mEd <
(D) I1Es </l <
What does it rv:qu;rre to set-up
for an organization 7

Wqﬁ

an jnuﬂﬂm

A) Computing devices and
%Ej) Cnmgmmganon links
Interconnecting devices . pling

(C) Protocols
ct;-rnmumcatmn among devices

%sﬁﬁlu gse mmﬁﬁﬁa‘

(A}ﬁ»‘ﬂ[ﬁnﬁmﬁ

B foie 3R gzafaen feamgd

Eciqaﬂ?mﬁ%ﬂamﬂﬁmﬂi*
fou giersien

D) & g
I the Clean

ndu* ud-uch
DM) is implemented ?
Mvctﬂ protocol
ontero protocol
Paris agreement -
Cartagena protocol

aEd Wee fgwm w3
(Fﬁif@}%ﬁmw
(A) 9= .

LICAREAC |

EC)‘ feE T (n) T Mt
(&), Redhrtion i one re sma sy
) Lo emited o Sulphur

ductio

mﬂ'ugnn + niild{;ne ar:lm t“g“n""tgg

(C) Ruiungmemmmmm e
mmm&nmm&m

None of these
%ﬁm it R B (certifieg
emission mluctmn credit) grfay

o Ieafia ge%t
B e TR
(B) JRET H IR TR Sy

& T |
(©) o S T e

= ﬁﬁiggﬂﬁﬂl
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15, Which_ Ivars d the  online learning | 19, Which of the followice o . ;
PDIRSHA 1. “Sw AYAM ; organisations play T?.?L’L‘adé’?““é‘ifé“’?;
[II. PARAKH IV, S\'l.-'_ﬂ‘r';\].,{pﬂimm esafmm the curriculym for all the
Gomn BRI | ladof G o higher

SILY L L ; 7 edile: el ;
%”mﬁ'm“ﬁ%}m}‘g%}% > | knowlegge” ! the disciplines’ of
[ den 1. ] . NCERT II. NCTE
1. & IV, gy ] L. UGc IV. AICTE
(A) HaH I, I] (B) ¥am | I I ] (A) Only I, 11 (B) Only I, 10, 113
(C) a1 (D) 31 11 v ©)LILILIV (D) Oniy 1 11 1v
16. How many kilograms of [:‘{1]_’ o | T4 % 99t fyggi e sth =
equivalent to | kg of CH, in terms of | ﬁm%wmﬁ%mt!m%ma:ﬁ
global warming potentia] 9 | 4 frefofign & @ s o HEAT /3
Wﬁﬂm%ma‘ﬁmm | HETE ity fiara 2 0
cf:‘lh CH, % auat 2 L W@t 1
B) 25 1. freft V. usmdtéé
ggg ;ﬂ s (A) Faa 111 (B) #Faa1 I, 11, 111
one of th Fae
17. The United ﬁﬁa‘iiﬂns C‘ﬂgfﬂnce on {C},L BTy ﬂ.:n .L e W.
Environment and Development | 20. Which of the following ancient Indian
gUNCED], also known as the ‘Earth University was situated in Pakistan of
ummit”’, brought together j present time ?
representatives from countries (A) Nalanda (B) Taxila
to discuss about the Tmpaci of human l (C) Vallabhi (D) Vikramshila
: activities on the environment. ] 53 w9 W THE wrd
A » SOC10-economic
B) 177, socio-demographic T F e
g H;j, gq::m—cuimratl_ %rﬂtn‘?
» D10 Conserva 100 (A) AT (B) Hﬁ?ﬁﬁﬂ' EaE
W g Ug wem | (C) Foondt (D) ﬁmﬁmgﬁﬂ
(qureiset), P et Rrar aoem’ & ; T
®Y 8§ off ST S 2 29 & | 21. NEP 21}2]1} has emphasized on :
e I. starting all the engi and medical
sfaffirdt %t gafao w ama courses in the verogoutus & -
nfafaftEt &y & an o = B & IL.  reviving ancient anledgle systems.
| lIl. converting all the colleges into
m ﬁgm_yﬁa; multi-discglplinary univmitﬁ:s.
B) 177, T Saieah IV. designing a new curriculum for Early
(B) ’m_m | Childhood Care and Education,
(C) 175, bl (A) LILILIV  (B) Onlyl, IL 11
i(nD) 173, 519 e ; e (C) Only LIl (D) OnlyIi, i1, 1v
18. most of the States of India, the Vice 3 fra T feard
Chancellor of a State Government Q?ﬁtﬂzﬂz{? L ?
Univﬂrﬂif; is appointed by : L & Sifafin st Afes LIEDED
A) Chief Minister of the State Tt HTE v e |
Home Minister of the State l =
C) Hon. Governor of the State 1L STl 11 syonferait <6t g s |
o S UL N (el i Ficd  H wg-fawes
ﬁm&m&iﬁgﬁ s I | fervafirererdt  whtafda we |

FU ok ik A | IV, SRfYF sremaee dmyre s fow

(A) T4 % qEgws | o fo10 W 1 Ty w5 |

(Bj) Iﬂgi il (A) LILULIV  (B) a1, 1, .

(C . % = 3 lI., Il];

O) m%ﬁmﬂﬂﬂﬂ i ©) FALIM (D) Faw

e
4



2. Wi

“s. Mt i8  ediity ple
process 7 1LY in  teaching. learning
h}*: I_ﬂ treqd every student equally

2O provide them sup '
.. Individyg| e
(C) 1

per their
need

O provide them
10 grow,
without any disc
gender ege.”

equal opportunity

students equally
fimimnation of caste,

HEATY -~ o1 wfEra o a4 0
(A) ¥ 8% o134 & Ty HHH SEEn
(B) 3 i

I WEA Yo F |
(€) 372 e % o 3vrere s 5 |
(D) =fy, fom snfe & Srewma % fae o
% WY A SEE 0 |
rimm:y task of a teacher is

0 stimulate, motivate and guide
students’ learning.

To teach good habits in students.

(B
tC% To teach the prescribed syllabus and
textbook units.

(D) To satisfy the expectations of the
principal, parents and society,

U fireres =1 wrufts w1 2
(A) BTl % Fiftnmm ) iearfea, I o
arfefifa

FT |
(B) ©TA1 & 3=t H1ed framn |
(C) Fuffta wigaws st wgagEs
THISA1 1 TG |
(D) wumEHE, #a-fa 3R swe #)
HUETSAT I T H] |
24. Wisﬂle]evelofﬂmfulluwirtgmgim?

v Pk el oy el -

‘Explain the com o of ...,
‘Conclude the characteristics of .......
A) Understan level
Analysis leve
C) Creativity level

;E_glicanuna{:%!?

T & :

I - EﬁT W TH ARG AR iﬁ
.. TTH/TT H W‘aﬁ,
& fsraa o Fred e
(A) T HEH

(B) faerm &

(C) TEATHAT Hl T

(D) 3Teed &

23. The
(A)

25.

27,

|
|
i
|
|
|
i
| 2.
|
|
|
}
l

was the educationist who hi_'IT.U-!'ljl
Kindergarten Education System 1o the
world
(A) Gijubhai [;ij :J::v.;;:..-l
(L) Herben (D) Froebe -
fnafag 2 B g =

et i wmreft a1 3wER e )
(A) fropard (B) &t
(C) (D) wiEE

MOOCs must contain the four quadrants
as per SWAYAM guidelines. X
Which of the following is correct list and
sequence of these quadrants 7 _
(A) e-tutorial (video), e-text (reading
material), self-assessment  lesis,
online discussion forum ;
e-text (reading material), e-tutorial
(video), online discussion forum,
self-assessment tests :
e-text (reading material), e-tutorial
(video), e-tutorial (audio), self-
dssessment tests ;
e-tutorial (video), e-text (reading
material), online discussion forum,
external assessment and certification

SWAYAM % fem-fdsii & a@n

MOOC ¥ =r wqulw 23 =ifew |
freifefian # & 2 1 51 Sutst 51 58

T 3 27
(A) imﬂ ) (ifea), -2 (WA
i , F-geTeA T, HEE
?&; s -ggeitas
{B) e {q;ﬂ m): Tof
L= Tfiegoy

CRIET]

(C) §-2F2 (WA wm), 3%—&&&@31
(cffsan), $-zgeifam (), w=-
HeITehA TOET

(D) $-ztem (Hfed), -39 (v
qmi), FHAE W= A (BRE),
TEdl g ST

Plagiarism is allowed by UGC
according to the latest rules and

ions by UGC.
r latggsy Prrdi 3 Fafr 3
aifefas

Ll

(B)
(C)

(D)

(A) 05 %
(C) 15%

07 (English)



g Which ol tiu‘.lhilnuing_ ypes does NOT
" belong o “Types of Interviews" in
research 7
(A) Structured Interview
(B) Unstructured Interview
C) Personal Interview
(I) Impersonal Interview
“GTTE 6 SR 3 ey 4
(A) Wd QTR
(B) HI8Te=h
(€) HI&TThI
(D) IreafedTs Frarresn
29, “'Ihil.'-h ﬂf_ thﬁ ﬁ_‘l“[}ﬁ;ina iS not !hf.‘
e.\;am[?le of qualitative research 9
(&) Ethnography  (B) Survey
(C) Case tudy (D) Focus Group
Fefefen % § 937 o TUITET iy
SCTELT 8T 8 9
(A) TMG-3v  (B) s
(C) =afth sems () T T
30. Which of the following inferential

statistics data analysis technique will
you use for the data that is less than 15
and selected using Convenient Sampling
Technique ?

A) A Variance Test
B) A Parametric Test
C) A Non-Parametric Test

D) None of these AT
geuom® FEE aEE w5

T T T 3R 15 F F7 327 % o a7y
= 9 8 s o sgate aifesh 2

fagereur aefie &1 3vgm 81 2

i Read the

|
J
I
F
I
I
I
|
|
|
|

| W

(A) T fa=ar ghem
(B) U= yrafere qiieor
(C) T =i Tigm
(D) ¥ & %18 7l

i llowing is NOT a useful
it mcﬂrgfg :ufnoa] it e data obtained
through research
A) Microsoft Excel SPSS
Ec)) SSPS } PYTHON

FIEUH & "W # Y afiesl
Frveto et % foru Fferfiaa 4 &
(A) TTERIETE TR (B) THATHCH
(C) waugdicy (D) 9@

7 (English)

following passa
Qumﬂi_un:«; given bel y
Ihe scienti

€ and answer the
velow : (Q. 32-36)
fic and critical mind of India
Must be reawakened from its slumber. The
ancient culture based on the vision of the Vedic
and Upanishadic seers did not minimise the
smportance of our earthly life, In fact, opulence,
nner and outer, was the driving force of this
culture, But for about a Millennium and a half
now our culture has let 20 of this fine balance and
20t tra ped into the ascetic denial of our terrestrial
ife, ‘ith this began the decline of the great
Indian civilization he present education system
ams  af making the child an information-
rcmrdmgﬁ’ machine and a robot for making
money. Mathematics. computers and machines
are everywhere in these days because they are the
Bateways to lucrative jobs and subjects which do
not enjoy this repetition - history, geography,
1guages like mother tongue and Sanskrit - are
out. The second grave defect of our education
system is that it is gravel denationalising, No
German education would regarded complete
without a good acquaintance with Goethe, but
Indian education has no such concern about the
sources of our culture, It is ironical that Indian
education is uncritically trying to emulate the
est just when the West itself {s going through a
crisis of faith with re to its institutions of
education and culture. It is desperately wondering
what has gone wrong as it faces mounting
problems u% drug addiction, teenage pregnancy
among high school students, an existing
hopelessness among Egtnple of all ages as well as

a social organisation that sets a um on greed
rather than on compassion and love.

P e =1 fe 3 1 fow o v

it gy 7w & 6 76

'F"lﬁﬁﬂﬂqﬁn
| o
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The author of this paragraph wants to
Indian culture.

@iﬁ? (A) revive (B) criticize
S (C) praise (D) None of these
¥ ST % TEh AT HEPH A/
AT |7 & |
(A) it (B) FTEAr=A
(C) HIrEn (D) 379 & i3 78
33. The word ‘opulence’ in this paragraph
means
(A) peace (B) wealth
(C) values (D) None of these
39 g0 # Twad e Y R
(A) wrife (B) &
(C) Ted (D) 9 9 g &l
34. Which of the following is NOT an issue

faced by the western society as per the

above text ?
(A) Pre-marital sex among adolescents

(B) Various addictions

(C) Depression 2

D) Lack of faith in Go

’E?n;ﬁﬁiﬂ F @ @ = IR ag?’d aﬁ

I
|
|
!
I
I
l
l

36.

37.

: -gtion
] 35.  According to the author. out educat

System is denationalising because at
. sing beci ca
(A) It does not 1.¢a.;|1gabﬂul the &
seers and sages of India. at
(B) It does nmEteagh about the B¢
artists of India. : anit
(C) It does not teach about the 2n€'®
language and literature of Indi8-

D) All of ese

% sgm, gt e ST
AT 1 1 & o _ -
fﬁ)gﬁmﬁ?mﬁﬁﬁaﬁtqﬁﬂ?

2l
(C) T8 WRE Ht wi et 37 AR B
an & 78 i 2 |
(D) g% @t

“No German education would be

regarded complete without a g0

ac%ualntance with Goethe.” What do you

understand by this line of the text ?

(A) The author praises German
education system.

(B) The author likes the German artist
Goethe.

(C) The author emphasises teaching of
arts and culture in education.

(D) None of these

“Tied % 3= qited & foen g off s
foren ol 78 =Pt et 2 1 srgeee i vw

- vife © 3T =GR B

(A) s s frer somef i seren s g |
(B) <HEH A FelTehR 0 1 96 T E |
(©) e fuean § Fen o Teply %

L

A conference or a meeting or even g
mela or procession is 4 ‘communication
event’, newspapers, radio, cinema apg
television are ‘communication medig’
phones, computers, satellites and tha
internet are ‘communication )

A) spaces EB% media=
fC} technologies (D) process

T GEEH 91 U 45 a1 ﬂﬁ%am &5
ﬂﬂT q 113-‘» R "eAl 1 Hqﬁ'['{_
w, Tﬁﬁﬁm A T e
e, 'R

O e

(C) srafirfat



38.

39.

40,

EL'?;@
EYE

41.

42,

Gestures, Grunts
examples of

(A) TM‘ﬂmlmimr‘l
(B) Non-Verbal Communiear:
(©) Netee munication
(D) Verbal {;%?municatiun

(A) feepr| &2
(C) W

Find the missin
series following 51& same pattern

QTS GG T o 5y
%‘Q H=T §19 s

8,24, 84,204, 798 (9)
(A) 1682 (B) 1783 EC) 1867 (D) 1932

The Interpretati

1 on roc
Communication takes Iar;n‘.l-.j in 0
EA; sender message
C) receiver &D%

h 1
e # m :?:m (H;-;?rn;n ATH)
I
(A) aﬁi (sender)
(B) I (message)
(C) (receiver)
(D) =e (channel)

What is of greater concern is the effect
of * * which could result from
repeated exposure to scenes of violence
In programmes, news and cartoons.

A) Stereotypes
Generalisation
C) Desensitization
gri None of these
St ifes fa 1 R R,
T B, S el FEERI SR Al |
fer % gwdl @ WR-ER fE@R %
qRumERaEY & gl 8 |
(A) Efeanfear (B) ST
(C) s (D) FH R TE
vironmental Stress, Competi
gilmﬂus, Subjective Stress are exmpli:suﬂ%
A) Noise :
}) Physical barrier
E Frame of ﬁf:lr:igsc
it . S, ST
aTa faeeh IQETI R ?
(A) IR (B) i s
(C) dex %H (D) HTSATHS qH7
sl

Shyam bought an old Honda Bike and
spent ¥ 1,500 on its repairs. Then Shyam
sold it to Rohan at a profit of 20%.
Rohan sold it to Rudra at a loss of 10%,
Rudra finally sold it for # 12,100 at a
profit of 10%. How much did Shyam
Pay (in T) for the old Honda Bike ?

YA 3 O g et ares @it stk seh
JUHA TR 1,500 @ fhu | i v 3 5
ﬂmﬁzu%%mmﬁaf&mrmﬁ
@Eﬁw%ﬁgﬁmﬂaﬁwrﬁﬁ
gﬁgnsﬂ ?sz.mo%n%%mm
| vamg
o (e iy T R
(A) T 8.600 (B) 78,685
(C) T 10,800 (D) 210,185

There are three athletes P, Q and R at the
same point. P starts running from a point at
a speed of 40 m/min. After 5 minutes, Q
starts running after P with a speed of 50
m/min. Simultaneously, R also starts
running after P at 60 m/min. What distance
has R covered (in m) when he catches P ?

¥ el P, Q MR wH A figm# | p
T fiig & 40 Her/fme 1 7fF @ dew
UE @1 8 | S e wE, Q, P ¥ 0
50 Hiey/fire #it 7 & dret I T |
g g, R ot P& 18 60 dier/fme
T ¥ ST & ST R | P UHE W R
3 frerft g0 (e ) T 1 2 0 ﬂ

(A) 700/3 (B) 10003
(C) 600 (D) 1300/3

In an election between two candidates,
the winner got 82% of total vote cast and
won the election by a majority of 3840
votes. What is the total number of votes
cast if no vote is declared invalid ?

&l SRfiEEnl & 9w g #, fos &
$ St T HAl T 82% W §AAT 3N
35 3840 Tl % qgHd & I S o |
Afe 1§ He I Hifg T8 R o 2
Tl ST T Hel ) Hol e R Y

(A) 11000 (B) 4000

(C) 9000 (D) 6000

45 L]

G mjﬂ s ﬁhl X i ﬁ
g e rﬂ ¥b2 VT R1 | ¥



46. Read the follow

47.

48.

INg information caref
ad the : | g eful]
:.;} Lm_.:[‘n: I:[_]illu Question given hu:lu:-w Tk
) A HeANS Y is mother af v
(1) X+Y me kit

: ans X is brother of
(i) X -y Means 3¢ ¥ DIt ther of Y,

e s 1S sister of Y.
u"rh}ic;: .In?l;'unc?‘nﬁ Y is father :‘:f;

e g oy G w40
1 fy grandson of (5 nitely means
Frferfiga smpra Y

(B)A-P*H/Q
(COA*P*H/Q
(D) None of these/g 3 %14 74
Consider the following argument :
Major Premise : No squares are rectang]es,
Minor Premise : AJ] rectangles are circles,
Conclusion : Some circles are not squares.
What is the Mood of the above proposition ?
@ T = :

H& SR~ : FH{ ot o s w4

| 0
HHR-aT : @l A A E |

fé.“E;.f : T A 2 |

IR T WG 22

(A) EAO (B) AEO

(C) AIE (D) EAI

Choose the analogy that best matches the

example provided.
SOOT : GRIMY
(A) RAIN : SODDEN
(B) PALL : GAUDY
(C) FROST mﬁm
 HE
g’ggj S wer foe mu IgE |
Fifera : Ae
(A) a9l ; a-=wal  (B) w
(C) rem: et (D) 5

!
|
|
I
I
|
J
|
|
!

|
|
l
|
I
I
|
l

I

J

el
515 a knife into a"fﬁ'g]ust
PETSON should be arrested. Surgeons ting-
a knife into another person when O '
Iherefore surgeons should be arrested-. ren
Which fuilljm:y is committed in the 81V

Eﬁ Fallacy of accident
B) Hasty Fencmlizaliﬂn :
?{L_l Epguﬁ L0 unqualified authority
ed Herring R
S T A e e it
fhan s wfew | Siver o il
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(A) QEIE*"H =1 9y
(B) FfE=ia amr=fias
(C) 37mg wrfrartt 1 anfrer
(D) Tafar .
In following question statements are "'ﬁ“
and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
at_variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows from™ the given statements,
disregarding commonly known facts.
Statements : Some questions _ are
answers. Some answers are writers.
the writers are poets.
Conclusions ;
I.  Some writers are answers.
II. Some poets are questions,
the questions are poets.
IV. Some ]poets are answers.
ﬂ{ Only I'and II follows,

“Whoever thy

Only I and IV follows,
C) Only I and IV follows.
y Il and 111 follows.
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